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NO.O | NO.O 4.90 4.90 4.90
20. 00 4.63 92. 60 4.63 92. 60 4.63 92. 60

No.1 | No.O + 20.00 4.35 4.35 4.35
20. 00 4.60 92. 00 4.60 92. 00 4.60 92. 00

NO.2 | NO.1 + 2000 4.85 4.85 4.85
20. 00 4.83 96. 60 4.83 96. 60 4.83 96. 60

No.3 | No.2 + 20.00 4.80 4.80 4.80
20. 00 4.78 95. 60 4.78 95. 60 4.78 95. 60

No.4 | NO.3 + 20.00 4.75 4.75 4.75
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(m) (m) (m?) (m) (m) (m?) (m) (m) (m?)
NO. 0 NO. 0 5. 90 5. 90
20. 00 4.75 95. 00 4.75 95. 00
NO. 1 NO.O + 20.00 3. 60 3. 60
20. 00 3. 60 72. 00 3. 60 72. 00
NO. 2 NO.1 + 20.00 3. 60 3. 60
20. 00 3.55 71. 00 3.55 71. 00
NO. 3 NO.2 +  20.00 3. 50 3. 50
20. 00 3. 20 64. 00 3. 20 64. 00
NO. 4 NO.3 + 20.00 2.90 2.90
20. 00 5. 55 111. 00 5. 55 111. 00
E.P. (NO.5) | NO.4 + 20.00 8. 20 8. 20
aEt 100. 00 413. 00 413. 00
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(m) (m) (m® (m) (m) (m® (m) (m) (m®

NO. 0 NO.O  + 0. 00 0.00 5.20

NO. 1 NO. 1 + 0. 00 20. 00 4. 80 5.00 100. 00
NO. 2 NO. 2 + 0. 00 20. 00 3. 50 4.15 83. 00
NO. 3 NO. 3 + 0. 00 20. 00 3.90 3.70 74. 00
NO. 4 NO.4  + 0. 00 20. 00 5.10 4. 50 90. 00
NO. 4+5. 0 NO.4  + 5.00 5.00 4. 50 4. 80 24. 00
&t 85. 00 4. 36 371. 00




BmEY M EL

A E

(—40)
M EUE L T
T AT 7L R #FEIY
SEERREE L A= 371.00 371.00 m? 371.0
(t=10cmlL F)
I ] - AEYERT IR X L D
HELERREIMT L= 5.20  +  4.50 9.70  m 9.7
(72771 1) ¥No. OFEMT : 5.20m, Nod+5. ORI : 4. 50m
(t=15emlL T)
BOE EEMEUE L LY
(7277 k) | V= 371.00 X  0.04 14.84 m® 14. 8
SO E 4em
LSS POEME LY
(72774 k) | V= 14.84 14.84 m® 14. 8




R % I % &H = (—t4 1)

1. 00 = .00 =




